laplace transform

Laplace transform L{f(t)} =¢(s)= ff(t)e‘s'dt

inverse Laplace transform

(1) =" {o(s)}

for some aM>0

f(t) is of exponential order if |f(1)| =Me™ Vi=0

existance of Laplace transform if f(t) is picewise continuos on [0, )

and of exponential order with a and M then L{f(t)} existsforall S >a
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s-multiplied transform shifting on t u(t-a)
" {sals)} = £(t)
s-divided transform . ( ;'u”ritcﬁgenp u(t-a)= {? ::: 1
L {;¢(s)}= [ 3
transform differentiation ; L{u(t—a)f(t)}= e(s)

L"{e ‘““‘q;(s)} =u(t-a)f(t-a)

L{u(t - a)f(t)} =e '“L{f(t + a)}

transform integration

t
convolution frg= ff(t — x)g( X)dX
0

transform of convolution

similarity

Lia)-2o[2] a>0

L{f«g} =L{f}L{g}




